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Inter (Part-I) 2014

Computer Sciaﬁca  PAPER: |

Time: 20 Minutes| (OBJECTIVE TYPE) Marks: 15|

Note: Four possible answers, A, B, C and D to each question
are given. The choice which you think is correct, fill that
circle in front of that question with Marker or Pen ink in
the answer-book. Cutting or filling two or more circles
will result in zero mark in that question.

1. Files can exist in folders but folders cannot exist in:
(A) Path (B) filesv’ |
(C) Folders (D) documents
2. Which is not an antivirus program?
(A) Redlofv" (B) Norton
(C) Dr.Solmon (D) MCAfee
3. How many types of language translators have?
(A)2 | (B)3v
(C)4 D)5
4.  How many units ALU has
(A) 1v == (B
(OF (D)4 ..
5. The size of accumulator register is up to:
- (A)4bit . (B)AKB
(C) 4 bytes (D)4 MB
6. How many bits are there in one byte?
(A)1 B)2
(C)4 (D) 8. |
5 A Which is not network communication device?
(A) Router ~ (B)Hub
(C) LANY (D)NIC "
8.. How many characters ASCII 7-bit can represent?
- (A) 1287 (B) 256

©1024 (D)32
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Computer-based weather forecasting depends on

accurate collection of data from:

(A) television
(CYradar

Which is faster?
(A) RAM

(C) reqistery

(B) weather stations v/

(1)) antenna

(B) Cache
(D) Hard disk

The step that obtains the next instruction from

memory is ealled ¢
(A) read
(C) get

(B) fetchv”
(D) decode

Al of the following are top level domains except;

(A) .edu
(C) .qov

(B) .org
(D) .busv’

Web pages are connected to one another using:

(A) hyperlinksv’
(C) internet

(B) HTTP
(D) multimedia

The intersection between a row and a column is

called:
(A) intersection
(C) field

(B) celly’
(D) address

From which menu header and footer option can

be used?
(A) tools
(C) edit

(B) insertv’

(D) view
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